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Objective: To determine whether a sequence is arithmetic,
geometric, or neither and to supply missing terms of a
sequence.

ESLRs: at the end of this document.

Definition: A sequence is an ordered set of numbers.

A sequence can be defined as a function whose domain
(x-values) consists of consecutive positive integers.
These numbers are called the "term number" of the
sequence, where the corresponding value (the range or
y-value) is called the "term" of the sequence.

A sequence is finite if it has a limited number of terms
and infinite if it does not.

Here is an example of a sequence:

Term Number: I, 2. 3. 4, 5. 6. ..
Actual Term: -3; 5 7. 9, 115 13;...
The Notation ... indicates an infinite sequence.
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Ex 1) For each arithmetic sequence, find d the common
difference and the next two terms of the sequence.
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Definition: A sequence in which a constant r can be
multiplied by each term to get the next term is called a
geometric sequence. The constant r is called the
common ratio.

Ex 2) For each geometric sequence, find the common
ratio and the next two terms.
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Objective: To determine whether a sequence is arithmetic,
geometric, or neither and to supply missing terms of a
sequence.

ESLRs: at the end of this document.

Definition: A sequence is an ordered set of numbers.

A sequence can be defined as a function whose domain
(x-values) consists of consecutive positive integers.
These numbers are called the "term number" of the
sequence, where the corresponding value (the range or
y-value) is called the "term" of the sequence.

A sequence is finite if it has a limited number of terms
and infinite if it does not.

Here is an example of a sequence:

Term Number: I, 2. 3. 4, 5. 6. ..
Actual Term: -3; 5 7. 9, 115 13;...
The Notation ... indicates an infinite sequence.
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Definition: A sequence in which a constant r can be
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